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Question #1Topic 1

Which BGP message type contains NLRI information?

A. notification
B. keepalive

C. update
D. open

Correct Answer: C

Question #2Topic 1



Click the Exhibit button.

user@router# show interfaces ge-0/0/1
description “Customer Port”:
flexible-vlan-tagging;
native-vlan-id 150;
encapsulation extended-vlan-bridge;
unit 10 {
vlan-id-list 100-200;
input-vlan-map push;
ocutput—-vlian-map pop;
}
userf@router# show interfaces xe-0/0/48
description “Uplink Port”;
vlan—-tagging;
unit 10 {
vlan-id 10;
}

userf@router# show vlans w10
interface ge-0/0/1.10;
interface xe-0/0/48.10;

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? (Choose two.)

A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 150.

B. The C-VLANs 100-200 will be sent as the inner VLAN tag.
C. The C-VLAN 150 will be sent as the inner VLAN tag.

D. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10.

Correct Answer: BD

Question #3Topic 1

What is the correct authentication processing order on EX Series switches when multiple Layer 2

authentication methods are enabled?

A. MAC RADIUS "> 802.1X "> captive portal
B. 802.1X "> MAC RADIUS "> captive portal

C. 802.1X "> captive portal "> MAC RADIUS
D. captive portal "> MAC RADIUS "> 802.1X

Correct Answer: B



Question #4Topic 1

You are implementing a single spanning tree instance in your network and want to use the protocol that
will give you the best convergence time in the event of a physical network failure of the root bridge.
Which spanning tree protocol will satisfy this requirement?

A.RSTP

B. STP
C. MSTP
D. VSTP

Correct Answer: A
Question #5Topic 1
What are three well-known mandatory BGP attributes? (Choose three.)

A. MED

B. AS-path

C. origin

D. next-hop
E. community

Correct Answer: BCD



